

City of Tulsa Purchasing Department 175 E. 2nd Street 15th Floor Tulsa, OK 74103 TAC 309F Secondary Source for Truck Bodies, Equipment & Accessories Finance Department Bid Opening Date: September 5, 2024 Buyer: Julie Miller
jamiller@cityoftulsa.org
Please contact if you have any questions

1. Delivery:

If Your Bid is accepted, state the number of Days yYou need to deliver the Supplies and /or to begin providing Services:

You must be able to deliver the Supplies and /or Services as specified in Your Bid. Failure to do so may result in City terminating the Agreement, and pursuing collection under any performance bond, as well as seeking any other damages to which it may be entitled in law or in equity.

2. Pricing

			Industrial Truck	Equipment, Inc.	Grand Truck Equ	uipment Co., LLC
ITEM	DESCRIPTION	Quantity	Unit Cost	Extended Cost	Unit Cost	Extended Cost
1	2,000 lb. Crane w/Manual 5-foot 6-inch Boom	2	\$7,335.00	\$14,670.00	\$12,456.00	\$24,912.00
	ITEM 1 Total Extended Cost			\$14,670.00		\$24,912.00
2	2,000 lb Crane w/7-foot Boom (Pedistal Mounted)	1	\$7,245.00	\$7,245.00	\$5,822.00	\$5,822.00
Option 1	Power Rotation	1	\$5,375.00	\$5,375.00	Not Available	\$0.00
	ITEM 2 Total Extended Cost			\$12,620.00		\$5,822.00
3	3,200 lb. Crane	3	\$19,680.00	\$59,040.00	\$23,538.00	\$70,614.00
Option 1	Power Out/In, Up/Down Outriggers	3	\$9,900.00	\$29,700.00	\$2,424.00	\$7,272.00
Option 2	Remote Control System	3	\$2,700.00	\$8,100.00	\$1,900.00	\$5,700.00
	ITEM 3 Total Extended Cost			\$96,840.00		\$83,586.00
4	5,000 lb. Crane	2	\$38,988.00	\$77,976.00	\$46,147.00	\$92,294.00
Option 1	Power In/Out, power Up/Down outriggers for curbside crane	2	\$7,600.00	\$15,200.00	\$2,424.00	\$4,848.00
	ITEM 4 Total Extended Cost			\$93,176.00		\$97,142.00
5	Strobe Systems					
	Strobe System LED					
Option A	Front & Rear for Cars	2	\$1,190.00	\$2,380.00	\$1,305.00	\$2,610.00
Option B	Front & Rear for Pickups	10	\$1,190.00	\$11,900.00	\$1,305.00	\$13,050.00
Option C	Front and Rear for Vans	5	\$1,190.00	\$5,950.00	\$1,305.00	\$6,525.00
Option D	Front & Rear for SUV's	10	\$1,190.00	\$11,900.00	\$1,305.00	\$13,050.00
Option E	Front & Rear for Trucks w/ Utility Service Bodies (8500-18000 GVW)	10	\$1,460.00	\$14,600.00	\$1,305.00	\$13,050.00
Option F	Front & Rear for Trucks w/ Utility Sevice Bodies (19000- 33000 GVW)	10	\$1,460.00	\$14,600.00	\$1,305.00	\$13,050.00
Option G	Front and Rear for Trucks w/ Contractors Beds (10,000-18,000GVW)	10	\$1,460.00	\$14,600.00	\$1,305.00	\$13,050.00
Option H	Front & Rear for Trucks w/ Contractors Beds (19.000 - 33,000 GVW)	10	\$1,460.00	\$14,600.00	\$1,305.00	\$13,050.00
Option I	Front & Rear for Trucks w/Stake Body Flatbeds (10,000 - 18.000 GVW)	10	\$1,460.00	\$14,600.00	\$1,305.00	\$13,050.00
Option J	Front & Rear for trucks with Stake Body Flatbeds (19,000 - 33,000 GVW)	10	\$1,460.00	\$14,600.00	\$1,305.00	\$13,050.00
Option K	FRONT ONLY for Heavy Duty Cab & Chassis Trucks (33,000 - 120,000 GVW)	10	\$1,410.00	\$14,100.00	\$889.00	\$8,890.00
Option L	Rear Mount Only Dump Bodies & Service Bodies	10	\$1,920.00	\$19,200.00	\$765.00	\$7,650.00
Option	l l					

Option N	Not Installed Front Strobes	2	\$165.00	\$330.00	\$369.00	\$738.00
	ITEM 5 Total Extended Cost			\$153,590.00		\$131,303.00
6	Tool Boxes					
Option A	Tool Chests, Double Lid, Standard Size	5	\$1,231.00	\$6,155.00	\$1,539.00	\$7,695.00
Option B	Tool Chests, Double Lid Wide, Deep	5	\$1,775.00	\$8,875.00	\$1,903.00	\$9,515.00
Option C	Tool Chest, Double Lid, Wide	5	\$1,440.00	\$7,200.00	\$1,520.00	\$7,600.00
Option D	Tool Chests, Double Lid Standard, Mid Size Truck	5	\$1,339.00	\$6,695.00	\$1,203.00	\$6,015.00
Option E	Tool Chests, Single Lid, Standard Size	5	\$1,165.00	\$5,825.00	\$1,287.00	\$6,435.00
Option F	Tool Chests, Single Lid, Low Profile, for Mid Size Trucks	5	\$1,423.00	\$7,115.00	\$690.00	\$3,450.00
Option G	Tool Chests, Single Lid, Standard Size, for Mid Size Trucks	5	\$769.00	\$3,845.00	\$1,200.00	\$6,000.00
Option H	Tool Chests, Upper Side Box, 78 x 16 1/2 x 12 1/2	5	\$1,270.00	\$6,350.00	\$1,326.00	\$6,630.00
Option J	Tool Chests, Upper Side Box, 96 x 16 1/2 x 1/2	5	\$1,573.00	\$7,865.00	\$1,376.00	\$6,880.00
Option K	Tool Chests, Underbody Box, 96 x 16 1/2 x 12 1/2, 2 door	5	\$611.00	\$3,055.00	\$1,406.00	\$7,030.00
Option L	Tool Chests, Underbody Box, 24 x 18 x 18	5	\$743.00	\$3,715.00	\$543.00	\$2,715.00
Option M	Tool Chests, Underbody Box 36 x 14 x 16	5	\$704.00	\$3,520.00	\$650.00	\$3,250.00
Option N	Tool Chests, Underbody Box 36 x 18 x 18	5	\$834.00	\$4,170.00	\$691.00	\$3,455.00
Option O	Tool Chests, Underbody Box 48 x 18 x 18	5	\$796.00	\$3,980.00	\$754.00	\$3,770.00
Option P	Tool Chests, Underbody Box 60 x 18 x 18	5	\$1,076.00	\$5,380.00	\$927.00	\$4,635.00
Option Q	Tool Chests, 2 door, 96 x 18 x 18 mounted on top or stacked, Flatbed	5	\$1,427.00	\$7,135.00	\$1,476.00	\$7,380.00
	Tool Chest, Over-wheel Box 51x13 3/16x8	1	\$880.00	\$880.00	\$738.00	\$738.00
Option S1	Window Grill, Mid-Size Truck	2	\$703.00	\$1,406.00	\$833.00	\$1,666.00
Option S2	Window Grill, Full Size Truck	2	\$835.00	\$1,670.00	\$833.00	\$1,666.00
Option S3	Window Grill, Service BodyTruck	2	\$835.00	\$1,670.00	\$768.00	\$1,536.00
Option S4	Tool Chests, Bow Bracket, 1/2 Ton Truck	2	\$631.00	\$1,262.00	\$564.00	\$1,128.00
Option S5	Tool Chests, Bow Bracket, Super Duty Truck	2	\$835.00	\$1,670.00	\$564.00	\$1,128.00
Option S6	Tool Chests, Bow Bracket, Service Body Truck	2	\$464.00	\$928.00	\$675.00	\$1,350.00
	ITEM 6 Total Extended Cost			\$100,366.00		\$101,667.00
7	Fire Extinguisher	10	\$125.00	\$1,250.00	\$85.51	\$855.10
	ITEM 7 Total Extended Cost			\$1,250.00		\$855.10
8	Safety Triangles	10	\$55.00	\$550.00	\$57.00	\$570.00
	ITEM 8 Total Extended Cost			\$550.00		\$570.00
9	Backup Alarm	10	\$75.00	\$750.00	\$87.00	\$870.00
	ITEM 9 Total Extended Cost			\$750.00		\$870.00
10	Electric Brake Controller	3	\$288.00	\$864.00	\$947.00	\$2,841.00
	ITEM 10 Total Extended Cost			\$864.00		\$2,841.00
11	6 or 7-way Trailer Light Connector					
11A	Cars	1	\$513.40	\$513.40	\$150.00	\$150.00
11B	Pickups	1	\$513.40	\$513.40	\$150.00	\$150.00
11C	Vans	1	\$513.40	\$513.40	\$150.00	\$150.00
11D	SUV's	1	\$513.40	\$513.40	\$150.00	\$150.00
11E	Utility Service Bodies	1	\$544.73	\$544.73	\$150.00	\$150.00
11F	Contractors Dump Bodies	1	\$544.73	\$544.73	\$150.00	\$150.00
11G	Flatbeds	1	\$544.73	\$544.73	\$150.00	\$150.00
11H	Dump Bodies	1	\$544.73	\$544.73	\$150.00	\$150.00
111	6-way to 7-Watt adaptor	1	\$135.00	\$135.00	\$90.00	\$90.00

	ITEM 11 Total Extended Cost			\$4,367.52		\$1,290.00
12	Hitch, Receiver Type					
12A	Cars, Class I, 2,000 lb.	1	\$995.71	\$995.71	\$778.00	\$778.00
12B	Vans, Class II, 3,500 lb	2	\$1,025.00	\$2,050.00	\$778.00	\$1,556.00
12C	SUV's, Mid-Size Pickups, Class II, 3.500 lb.	1	\$1,025.00	\$1,025.00	\$778.00	\$778.00
12D	Pickups, Class III, 8,000 lb.	5	\$1,125.00	\$5,625.00	\$778.00	\$3,890.00
12E	Pickups, Class IV, 10,000 lb	5	\$1,587.00	\$7,935.00	\$973.00	\$4,865.00
12F	Contractractors Dump Beds, Class IV, 10,000 lb	4	\$1,587.00	\$6,348.00	\$1,068.00	\$4,272.00
12G	Utility Service Bodies Class IV, 10,000 lb	10	\$1,587.00	\$15,870.00	\$1,068.00	\$10,680.00
12H	Flatbeds, Class IV, 10,000 lb	2	\$1,587.00	\$3,174.00	\$1,068.00	\$2,136.00
	ITEM 12 Total Extended Cost			\$43,022.71		\$28,955.00
13	Pintle Hitch Combination					
13A	Pintle Hitch w/a 8,000 lb Reciever Installed on 6,000 GVW Pickups	2	\$693.00	\$1,386.00	\$1,123.00	\$2,246.00
13B	Pintle Hitch w/a 10,000 lb Reciever Installed on 8,500 GVW Pickups	2	\$693.00	\$1,386.00	\$1,123.00	\$2,246.00
13C	Pintle Hitch w/3,500 lb Capacity Reciver Hitch w/Tongue & Ball on SUV's	2	\$693.00	\$1,386.00	\$1,123.00	\$2,246.00
	Pintle Hitch w/a 3,500 lb Receiver Installed on Vans	2	\$693.00	\$1,386.00	\$1,123.00	\$2,246.00
13E	Pintle Hitch w/a 10,000 lb Reciever Installed on Flatbeds, Contractor Bodies, Utility Service Bodies	2	\$3,504.00	\$7,008.00	\$1,123.00	\$2,246.00
13F	Pintle Hitch w/a mounted on tongue only, NO HITCH	2	\$210.00	\$420.00	\$172.00	\$344.00
	ITEM 13 Total Extended Cost			\$12,972.00		\$11,574.00
14	Air Pintle Hitch (PH210) w/7 way Connector & Glad Hands	5	\$4,189.73	\$20,948.65	\$1,990.00	\$9,950.00
	ITEM 14 Total Extended Cost			\$20,948.65		\$9,950.00
15	Lift Gates					
15A	1,000 lb for Mid Size & Compact Pickups	3	N/A		\$3,877.00	\$11,631.00
15B	1,000 lb for 1/2 to 3/4 Ton Pickups	3	\$4,737.33	\$14,211.99	\$4,068.00	\$12,204.00
15C	1,300 lb Standard Type Liftgate for 1-ton walkthrough vans, panel vans, delivery and cube vans, utility service bodies	3	\$4,914.66	\$14,743.98	\$4,488.00	\$13,464.00
15D	1,300 lb Dumb thru type Liftgate for 1-ton walkthrough vans, panel vans, delivery and cube vans, utility service bodies.	3	\$5,662.66	\$16,987.98	\$0.00	\$0.00
15E	1,300 lb Standard Type Liftgate for stake bodies and contractor beds	3	\$5,178.55	\$15,535.65	\$4,488.00	\$13,464.00
15F	1,300 lb DumpThru type Liftgate for stake bodies and contractor	3	\$5,862.66	\$17,587.98	\$0.00	\$0.00
15G	1,600 lb Standard type Liftgate for 1-ton walkthrough vans, panel vans, delivery and cube vans, utility service bodies	3	\$5,378.66	\$16,135.98	\$4,610.00	\$13,830.00
15H	1,600 lb Dump thru type Liftgate for 1-ton walkthrough vans, panel vans, delivery and cube vans, utility service bodies	3	\$6,062.66	\$18,187.98	\$5,053.00	\$15,159.00
1 5l	1,600 lb Standard type Liftgate for Stake Bodies and Contractor Dump Beds	3	\$5,478.66	\$16,435.98	\$4,610.00	\$13,830.00
1 5J	1,600 lb Dump thru type Liftgate for Stake Bodies and Contractor Dump Beds	3	\$6,162.66	\$18,487.98	\$5,053.00	\$15,159.00
	ITEM 15 Total Extended Cost			\$148,315.50		\$108,741.00
16	Non Emergency Light Bar					
16A	Installed, Work Vehicle	10	\$3,915.00	\$39,150.00	\$3,415.00	\$34,150.00
16B	NOT Installed, Work Vehicle	1	\$1,850.00	\$1,850.00	\$2,635.00	\$2,635.00
16C	Installed, Security Vehicles	1	\$3,915.00	\$3,915.00	\$3,415.00	\$3,415.00
16D	NOT Installed, Security Vehicles	1	\$1,850.00	\$1,850.00	\$2,635.00	\$2,635.00
	ITEM 16 Total Extended Cost		ı	\$46,765.00		\$42,835.00
17	8 Light LED Traffic Advisor	5	\$2,645.00	\$13,225.00	\$1,754.00	\$8,770.00
	ITEM 17 Total Extended Cost			\$13,225.00		\$8,770.00

Bed Description							
1985 Page 1985 of Page 2,	18	Bed Liners					
1973 Ones and water Place Except Synth and Place 1 \$550,000 \$550,00	18A	Drop-in Hard Plastic, Full Size 8-Foot Bed	1	\$425.00	\$425.00	\$374.00	\$374.00
1970	18B	Drop in Hard Plastic, Full Size 6-Foot Bed	1	\$400.00	\$400.00	\$374.00	\$374.00
1811 Marthe May, Full Specified 1 3000.00 5186	18C	Drop-in Hard Plastic, Mid Size Long Bed	1	\$350.00	\$350.00	\$374.00	\$374.00
Marker May, Fall Size of Food Social Socia	18D	Drop-in Hard Plastic, Mid-Size Short Bed	1	\$325.00	\$325.00	\$236.00	\$236.00
	18E	Rubber Mat, Full Size 8-Foot Bed	1	\$205.00	\$205.00	\$186.00	\$186.00
State	18F	Rubber Mat, Full Size 6-Foot Bed	1	\$192.00	\$192.00	\$186.00	\$186.00
Specy Limited Field Field, High State Series Med. Specy Limited Field 10 \$448.00 \$6,480.00 \$770.00 \$770.00	18G	Rubber Mat, Mid-Size Long Bed	1	\$192.00	\$192.00	\$186.00	\$186.00
18 Spray Lin Real Linear, Field Script Front Bed, Sarray Unider Roll 10 5644.00 51,440.00 5704.00 42,122.00	18H	Rubber Mat, Mid-Size Short Bed	1	\$182.00	\$182.00	\$186.00	\$186.00
March Spring Min River Invert Mill Size International Cost 1.2	181	Spray-Un Bed Liner, Full Size 8-Foot Bed, Spray Under Rail	10	\$648.00	\$6,480.00	\$763.00	\$7,630.00
Name	18J	Spray-Un Bed Liner, Full Size 6-Foot Bed, Spray Under Rail	10	\$648.00	\$6,480.00	\$704.00	\$7,040.00
19	18K	Spray-Un Bed Liner, Mid-Size Long Bed, Spray Under Rail	3	\$648.00	\$1,944.00	\$704.00	\$2,112.00
Package		ITEM 18 Total Extended Cost			\$17,175.00		\$18,884.00
	19	8,000 lb Winch					
Heavy Duty Trucks, 5,000 GVW to 17,500 GVW. Mounted in line Real TEM 19 Total Extended Cost \$30,900.00 \$31,948.00 \$23,138.00	19A	Pickups, 6,000 GVW to 9,500 lb GVW	5	\$3,800.00	\$19,000.00	\$2,990.00	\$14,950.00
Tem 19 Total Extended Cost \$30,900.00 \$32,318.00	19B	Heavy Duty Trucks, 9,600 GVW to 17,500 GVW	2	\$3,800.00	\$7,600.00	\$3,120.00	\$6,240.00
2-00 2-400 Walt Power Inverter	19C	Heavy Duty Trucks, 9,600 GVW to 17,500 GVW. Mounted in the Bed	1	\$4,300.00	\$4,300.00	\$1,948.00	\$1,948.00
Option of Disort Mounted in Service Bodies 1 \$5,048.00 \$5,048.00 \$3,311.00 \$3,311.00 Option 2 Disord Mounted in Cabs of Pickup Trucks & Cab Chassis Trucks 1 \$5,698.00 \$5,698.00 \$3,311.00 \$3,311.00 21 Strety Chans & Hooks ***********************************		ITEM 19 Total Extended Cost			\$30,900.00		\$23,138.00
Option 2	20	2,400 Watt Power Inverter					
TEM 20 Total Extended Cost S10,746,00 S6,622,00	Option1	Option1, Mounted in Service Bodies	1	\$5,048.00	\$5,048.00	\$3,311.00	\$3,311.00
21 Safety Chans & Hooks Section A Class I, II, III 5 NB 30.00 \$543.00 \$2,715.00 Option B Class IV 5 NB \$0.00 \$553.00 \$3,265.00 Option C Class V 2 NB \$0.00 \$330.00 \$1,880.00 Sting Links NB \$0.00 \$210.00 \$420.00 Option D Class I, II, III 2 NB \$0.00 \$220.00 \$420.00 Option E Class IV 2 NB \$0.00 \$290.00 \$580.00 Option F Class V 2 NB \$0.00 \$463.00 \$926.00 Option F Class V 2 NB \$0.00 \$463.00 \$926.00 ITEM 21 Total Extended Cost 2 NB \$0.00 \$463.00 \$926.00 22 Conspliculty Tap 5 \$25.00 \$125.00 \$49.00 \$245.00 3 StraceBodies \$1 \$1,900.00 \$7,990.00 \$7,990.00 \$7,990.00 \$7,990.00 \$7,990.00 \$1,900.00 \$1,900.00	Option 2	Option 2, Mounted in Cabs of Pickup Trucks & Cab Chassis Trucks	1	\$5,698.00	\$5,698.00	\$3,311.00	\$3,311.00
Option A Class I, II, III 5 NB \$0.00 \$543.00 \$2,715.00 Option B Class IV 5 NB \$0.00 \$653.00 \$3,265.00 Option C Class V 2 NB \$0.00 \$393.00 \$1,680.00 Sting Links NB \$0.00 \$220.00 \$420.00 Option D Class I, II, III 2 NB \$0.00 \$220.00 \$420.00 Option E Class IV 2 NB \$0.00 \$220.00 \$860.00 Option F Class V 2 NB \$0.00 \$220.00 \$860.00 Option F Class V 2 NB \$0.00 \$463.00 \$926.00 ITEM 21 Total Extended Cost ************************************		ITEM 20 Total Extended Cost			\$10,746.00		\$6,622.00
Option B Class IV 5 NB \$0.00 \$653.00 \$3,265.00 Option C Class V 2 NB \$0.00 \$930.00 \$1,880.00 Sting Links NB \$0.00 \$210.00 \$420.00 Option D Class II, IIIII 2 NB \$0.00 \$210.00 \$420.00 Option E Class IV 2 NB \$0.00 \$290.00 \$580.00 Option F Class IV 2 NB \$0.00 \$463.00 \$296.00 Option F Class IV 2 NB \$0.00 \$463.00 \$296.00 Option F Class V 2 NB \$0.00 \$463.00 \$296.00 1 (TEM 21 Total Extended Cost \$0.00 \$125.00 \$49.00 \$245.00 \$245.00 23 StakeBodies \$125.00 \$125.00 \$7,990.00 \$7,990.00 23A 86° Body (56° CA) 1 \$11,900.00 \$1,900.00 \$7,990.00 \$7,990.00 23B 96° Bod	21	Safety Chans & Hooks					
Option C Class V 2 NB \$0.00 \$930.00 \$1,860.00 Option D Sting Links NB \$0.00 \$210.00 \$420.00 Option D Class IV 2 NB \$0.00 \$290.00 \$580.00 Option F Class V 2 NB \$0.00 \$463.00 \$826.00 Option F Class V 2 NB \$0.00 \$463.00 \$826.00 1EM 21 Total Extended Cost	Option A	Class I, II, III	5	NB	\$0.00	\$543.00	\$2,715.00
Sling Links	Option B	Class IV	5	NB	\$0.00	\$653.00	\$3,265.00
Option D Class I, II, III 2 NB \$0.00 \$210.00 \$420.00 Option E Class IV 2 NB \$0.00 \$290.00 \$580.00 Option F Class V 2 NB \$0.00 \$463.00 \$926.00 22 Conspiculty Tap 5 \$25.00 \$125.00 \$48.00 \$245.00 23 StakeBodies ***********************************	Option C	Class V	2	NB	\$0.00	\$930.00	\$1,860.00
Option E Class IV 2 NB \$0.00 \$290.00 \$580.00 Option F Class V 2 NB \$0.00 \$463.00 \$926.00 ITEM 21 Total Extended Cost 5 \$25.00 \$125.00 \$49.00 \$245.00 22 Conspicuity Tap 5 \$25.00 \$125.00 \$49.00 \$245.00 23 StakeBodies		Sling Links		NB	\$0.00		
Option F Class V 2 NB \$0.00 \$463.00 \$926.00 2 Conspiculty Tap 5 \$25.00 \$125.00 \$49.00 \$245.00 22 Conspiculty Tap 5 \$25.00 \$125.00 \$49.00 \$245.00 23 StakeBodies	Option D	Class I, II, III	2	NB	\$0.00	\$210.00	\$420.00
ITEM 21 Total Extended Cost \$0.00 \$9,766.00 22 Conspiculty Tap 5 \$25.00 \$125.00 \$49.00 \$245.00 ITEM 22 Total Extended Cost \$125.00 \$125.00 \$245.00 23 StakeBodies \$125.00 \$125.00 \$245.00 23 \$86" Body (56" CA) 1 \$11,900.00 \$11,900.00 \$7,990.00 23B 96" Body (60" CA) 1 \$12,835.00 \$12,835.00 \$8,190.00 23C 106" Body (84" CA) 1 \$13,950.00 \$13,950.00 \$8,435.00 23D 126" Body (84" CA) 1 \$16,325.00 \$16,325.00 \$9,591.00 23E 146" Body (108" CA) 1 \$16,900.00 \$16,900.00 \$10,453.00 \$10,453.00 23F 166" Body (120" CA) 1 \$17,587.00 \$17,587.00 \$10,912.00 23G 186" Body (120" CA) 1 \$18,415.00 \$13,187.00 \$13,187.00 23H 206" Body (150" CA) 1 \$19,387.00 \$19,387.00 \$15,685.00 \$15,685.00 23I 22"6" Body (150" CA) 1 \$20,075.00 \$20,075.00 \$16,871.00 \$16,871.00 23J 24"6" Body (150" CA) 1 \$20,075.00 \$21,515.00 \$17,663.00 \$17,663.00 23J 24"6" Body (165" CA) 1 \$20,075.00 \$21,515.00 \$17,663.00 \$17,663.00 23J 24"6" Body (165" CA) 1 \$20,075.00 \$21,515.00 \$17,663.00 \$17,663.00 23J 24"6" Body (165" CA) 1 \$21,515.00 \$21,515.00 \$17,663.00 \$17,663.00 23J 24"6" Body (165" CA) 1 \$21,515.00 \$21,515.00 \$17,663.00 \$17,663.00 23J 24"6" Body (165" CA) 1 \$21,515.00 \$21,515.00 \$17,663.00 \$17,663.00 23J 24"6" Body (165" CA) 1 \$21,515.00 \$21,515.00 \$17,663.00 \$17,663.00 23J 24"6" Body (165" CA) 1 \$21,515.00 \$21,515.00 \$17,663.00 \$17,663.00 23J 24"6" Body (165" CA) 1 \$21,515.00 \$21,515.00 \$17,663.00 \$17,663.00 23J 24"6" Body (165" CA) 1 \$21,515.00 \$21,515.00 \$17,663.00 \$17,663.00 23J 24"6" Body (165" CA) 1 \$21,515.00 \$21,515.00 \$17,663.00 \$17,663.00 23J 24"6" Body (165" CA) 1 \$21,515.00 \$21,515.00 \$17,663.00 \$17,663.00 23J 24"6" Body (165" CA) 1 \$21,515.00 \$21,515.00 \$21,515.00 \$17,663.0	Option E	Class IV	2	NB	\$0.00	\$290.00	\$580.00
22 Conspicuity Tap 5 \$25.00 \$125.00 \$49.00 \$245.00 23 StakeBodies	Option F	Class V	2	NB	\$0.00	\$463.00	\$926.00
TIEM 22 Total Extended Cost \$125.00 \$245.00 23 StakeBodies ***********************************		ITEM 21 Total Extended Cost			\$0.00		\$9,766.00
23 StakeBodies 23A 8'6" Body (56" CA) 1 \$11,900.00 \$11,900.00 \$7,990.00 \$7,990.00 23B 9'6" Body (60" CA) 1 \$12,835.00 \$12,835.00 \$8,190.00 \$8,190.00 23C 10'6" Body (84" CA) 1 \$13,950.00 \$13,950.00 \$8,435.00 \$8,435.00 23D 12'6" Body (84" CA) 1 \$16,325.00 \$16,325.00 \$9,591.00 \$9,591.00 23E 14'6" Body (108" CA) 1 \$16,900.00 \$16,900.00 \$10,453.00 \$10,453.00 23F 16'6" Body (120"CA) 1 \$17,587.00 \$10,912.00 \$10,912.00 23G 18'6" Body (120"CA) 1 \$18,415.00 \$13,187.00 \$13,187.00 23H 20'6" Body (150" CA) 1 \$19,387.00 \$19,387.00 \$15,685.00 23I 22'6" Body (150" CA) 1 \$20,075.00 \$20,075.00 \$16,871.00 \$17,663.00 23J 24'6" Body (165" CA) 1 \$21,515.00 \$21,515.00 \$17,663.00 \$17,663.00 </td <td>22</td> <td>Conspicuity Tap</td> <td>5</td> <td>\$25.00</td> <td>\$125.00</td> <td>\$49.00</td> <td>\$245.00</td>	22	Conspicuity Tap	5	\$25.00	\$125.00	\$49.00	\$245.00
23A 8'6" Body (56" CA) 1 \$11,900.00 \$11,900.00 \$7,990.00 \$7,990.00 23B 9'6" Body (60" CA) 1 \$12,835.00 \$12,835.00 \$8,190.00 \$8,190.00 23C 10'6" Body (84" CA) 1 \$13,950.00 \$13,950.00 \$8,435.00 \$8,435.00 23D 12'6" Body (84" CA) 1 \$16,325.00 \$16,325.00 \$9,591.00 \$9,591.00 23E 14'6" Body (108" CA) 1 \$16,900.00 \$16,900.00 \$10,453.00 \$10,453.00 23F 16'6" Body (120"CA) 1 \$17,587.00 \$17,587.00 \$10,912.00 \$10,912.00 23G 18'6" Body (120"CA) 1 \$18,415.00 \$18,415.00 \$13,187.00 \$13,187.00 23H 20'6" Body (150" CA) 1 \$19,387.00 \$19,387.00 \$15,685.00 \$15,685.00 23I 22"6" Body (150" CA) 1 \$20,075.00 \$20,075.00 \$16,871.00 \$17,663.00 23J 24'6" Body (166" CA) 1 \$21,515.00 \$21,515.00 \$17,663.00 \$17,663.00		ITEM 22 Total Extended Cost			\$125.00		\$245.00
23B 9'6" Body (60" CA) 1 \$12,835.00 \$8,190.00 \$8,190.00 23C 10'6" Body (84" CA) 1 \$13,950.00 \$13,950.00 \$8,435.00 \$8,435.00 23D 12'6" Body (84" CA) 1 \$16,325.00 \$16,325.00 \$9,591.00 \$9,591.00 23E 14'6" Body (108" CA) 1 \$16,900.00 \$16,900.00 \$10,453.00 \$10,453.00 23F 16'6" Body (120"CA) 1 \$17,587.00 \$17,587.00 \$10,912.00 \$10,912.00 23G 18'6" Body (120"CA) 1 \$18,415.00 \$13,187.00 \$13,187.00 \$13,187.00 23H 20'6" Body (150" CA) 1 \$19,387.00 \$19,387.00 \$15,685.00 \$15,685.00 23I 22"6" Body (150" CA) 1 \$20,075.00 \$20,075.00 \$16,871.00 \$16,871.00 23J 24'6" Body (165" CA) 1 \$21,515.00 \$21,515.00 \$17,663.00 \$17,663.00	23	StakeBodies					
23C 10'6" Body (84" CA) 1 \$13,950.00 \$13,950.00 \$8,435.00 \$8,435.00 23D 12'6" Body (84" CA) 1 \$16,325.00 \$16,325.00 \$9,591.00 \$9,591.00 23E 14'6" Body (108" CA) 1 \$16,900.00 \$16,900.00 \$10,453.00 \$10,453.00 23F 16'6" Body (120"CA) 1 \$17,587.00 \$17,587.00 \$10,912.00 \$10,912.00 23G 18'6" Body (120"CA) 1 \$18,415.00 \$13,187.00 \$13,187.00 23H 20'6" Body (150" CA) 1 \$19,387.00 \$19,387.00 \$15,685.00 \$15,685.00 23I 22"6" Body (150" CA) 1 \$20,075.00 \$20,075.00 \$16,871.00 \$16,871.00 23J 24'6" Body (165" CA) 1 \$21,515.00 \$21,515.00 \$17,663.00 \$17,663.00	23A	8'6" Body (56" CA)	1	\$11,900.00	\$11,900.00	\$7,990.00	\$7,990.00
23D 12'6" Body (84" CA) 1 \$16,325.00 \$9,591.00 \$9,591.00 23E 14'6" Body (108" CA) 1 \$16,900.00 \$16,900.00 \$10,453.00 \$10,453.00 23F 16'6" Body (120"CA) 1 \$17,587.00 \$17,587.00 \$10,912.00 \$10,912.00 23G 18'6" Body (120"CA) 1 \$18,415.00 \$18,415.00 \$13,187.00 \$13,187.00 23H 20'6" Body (150" CA) 1 \$19,387.00 \$19,387.00 \$15,685.00 \$15,685.00 23I 22"6" Body (150" CA) 1 \$20,075.00 \$20,075.00 \$16,871.00 \$16,871.00 23J 24'6" Body (165" CA) 1 \$21,515.00 \$21,515.00 \$17,663.00 \$17,663.00	23B	9'6" Body (60" CA)	1	\$12,835.00	\$12,835.00	\$8,190.00	\$8,190.00
23E 14'6" Body (108" CA) 1 \$16,900.00 \$16,900.00 \$10,453.00 \$10,453.00 23F 16'6" Body (120"CA) 1 \$17,587.00 \$17,587.00 \$10,912.00 \$10,912.00 23G 18'6" Body (120"CA) 1 \$18,415.00 \$13,187.00 \$13,187.00 23H 20'6" Body (150" CA) 1 \$19,387.00 \$19,387.00 \$15,685.00 \$15,685.00 23I 22"6" Body (150" CA) 1 \$20,075.00 \$20,075.00 \$16,871.00 \$16,871.00 23J 24'6" Body (165" CA) 1 \$21,515.00 \$21,515.00 \$17,663.00 \$17,663.00	23C	10'6" Body (84" CA)	1	\$13,950.00	\$13,950.00	\$8,435.00	\$8,435.00
23F 16'6" Body (120"CA) 1 \$17,587.00 \$10,912.00 \$10,912.00 23G 18'6" Body (120"CA) 1 \$18,415.00 \$18,415.00 \$13,187.00 \$13,187.00 23H 20'6" Body (150" CA) 1 \$19,387.00 \$19,387.00 \$15,685.00 \$15,685.00 23I 22"6" Body (150" CA) 1 \$20,075.00 \$20,075.00 \$16,871.00 \$16,871.00 23J 24'6" Body (165" CA) 1 \$21,515.00 \$21,515.00 \$17,663.00 \$17,663.00	23D	12'6" Body (84" CA)	1	\$16,325.00	\$16,325.00	\$9,591.00	\$9,591.00
23G 18'6" Body (120"CA) 1 \$18,415.00 \$18,415.00 \$13,187.00 \$13,187.00 23H 20'6" Body (150" CA) 1 \$19,387.00 \$19,387.00 \$15,685.00 \$15,685.00 23I 22"6" Body (150" CA) 1 \$20,075.00 \$20,075.00 \$16,871.00 \$16,871.00 23J 24'6" Body (165" CA) 1 \$21,515.00 \$21,515.00 \$17,663.00 \$17,663.00	23E	14'6" Body (108" CA)	1	\$16,900.00	\$16,900.00	\$10,453.00	\$10,453.00
23H 20'6" Body (150" CA) 1 \$19,387.00 \$19,387.00 \$15,685.00 \$15,685.00 23I 22"6" Body (150" CA) 1 \$20,075.00 \$20,075.00 \$16,871.00 \$16,871.00 23J 24'6" Body (165" CA) 1 \$21,515.00 \$21,515.00 \$17,663.00 \$17,663.00	23F	16'6" Body (120"CA)	1	\$17,587.00	\$17,587.00	\$10,912.00	\$10,912.00
23I 22"6" Body (150" CA)	23G	18'6" Body (120"CA)	1	\$18,415.00	\$18,415.00	\$13,187.00	\$13,187.00
23J 24' 6" Body (165" CA) 1 \$21,515.00 \$21,515.00 \$17,663.00 \$17,663.00	23H	20'6" Body (150" CA)	1	\$19,387.00	\$19,387.00	\$15,685.00	\$15,685.00
	231	22"6" Body (150" CA)	1	\$20,075.00	\$20,075.00	\$16,871.00	\$16,871.00
Option 1 14" high Steel Contractors sides (priced per foot, one side) 1 \$85.00 \$85.00 \$140.00	23J	24' 6" Body (165" CA)	1	\$21,515.00	\$21,515.00	\$17,663.00	\$17,663.00
	Option 1	14" high Steel Contractors sides (priced per foot, one side)	1	\$85.00	\$85.00	\$140.00	\$140.00

	_		7			T
Option 2	40" high Steel Stake Sides (priced per foot, one side)	1	\$129.00	\$129.00	\$90.00	\$90.00
Option 3	2" Pine Floor	1	N/A	\$0.00	\$41.00	\$41.00
Option 4	1 3/8" Apitong Floor (priced per foot)	1	N/A	\$0.00	\$120.00	\$120.00
Option 5	3/16" Smooth Steel Floor	1	\$1,422.50	\$1,422.50	\$32.00	\$32.00
Option 6	Bulkhead	1	\$718.00	\$718.00	\$600.00	\$600.00
Option 7	4" Tail Roller	1	N/A	\$0.00	\$1,123.00	\$1,123.00
Option 8	4" Solid Tail Pipe on Bed	1	N/A	\$0.00	\$567.00	\$567.00
Option 9	1,300 lb Liftgate	1	\$5,862.66	\$5,862.66	\$4,488.00	\$4,488.00
Option 10	Ratchet Straps (Each)	1	\$145.00	\$145.00	\$330.00	\$330.00
Option 11	Floor reinforcement for 3,200 lb Crane Mounting	1	\$5,500.00	\$5,500.00	\$2,373.00	\$2,373.00
Option 12	Floor reinforcement for 5,000 lb Crane Mounting	1	\$18,308.00	\$18,308.00	\$2,955.00	\$2,955.00
	ITEM 23 Total Extended Cost			\$201,059.16		\$131,836.00
24	Contractors Dum Body					
24A	8'6" Body (56" CA)	1	\$34,800.00	\$34,800.00	\$19,910.00	\$19,910.00
24B	9'6" Body (60" CA)	1	\$34,100.00	\$34,100.00	\$20,017.00	\$20,017.00
24C	10'6" Body (84" CA)	1	\$36,000.00	\$36,000.00	\$20,367.00	\$20,367.00
24D	12'6" Body (84" CA)	1	\$36,300.00	\$36,300.00	\$21,688.00	\$21,688.00
24E	14'6" Body (108" CA)	1	\$37,800.00	\$37,800.00	\$22,762.00	\$22,762.00
24F	16'6" Body (120"CA)	1	\$38,300.00	\$38,300.00	\$24,217.00	\$24,217.00
Option 1	3/16" Steel Tredplate Floor	1	\$250.00	\$250.00	\$31.00	\$31.00
Option 2	3/16" Steel Smooth Floor	1	\$250.00	\$250.00	\$29.00	\$29.00
Option 3	14" Steel Stake Sides w/Tailgate (Prices per foot)	1	Included	\$0.00	\$140.00	\$140.00
	ITEM 24 Total Extended Cost			\$217,800.00		\$129,161.00
25	Utility Service Body					
25A	96" Bed, "H" Model (56" CA) Single Wheel	2	\$15,283.13	\$30,566.26	\$11,550.00	\$23,100.00
25B	96" Bed, "V" Model (56" CA) Single Wheel	2	\$15,283.13	\$30,566.26	\$11,778.00	\$23,556.00
25C	96" Bed, Low Profile (56" CA)	2	NB	\$0.00	\$11,441.00	\$22,882.00
25D	108" Bed, (60" CA)	2	\$16,167.50	\$32,335.00	\$12,806.00	\$25,612.00
25E1	108" Bed, Low Profile (60" CA) Single Wheel	2	NB	\$0.00	\$12,456.00	\$24,912.00
25E2	108" Bed, Low Profile (60" CA) Dual Wheel	2	NB	\$0.00	\$12,781.00	\$25,562.00
25F	132" Bed, Model (84" CA)	•				
Option 1		2	\$20,205.00	\$40,410.00	\$15,401.00	\$30,802.00
-	Master Lock System	2	\$20,205.00 \$566.00	\$40,410.00 \$1,132.00	\$15,401.00 \$371.00	\$30,802.00 \$742.00
Option 2	Master Lock System Bumper with Lift Gate Cutouts		<u> </u>	·	·	
Option 2 Option 3		2	\$566.00	\$1,132.00	\$371.00	\$742.00
	Bumper with Lift Gate Cutouts	2	\$566.00 \$650.00	\$1,132.00 \$1,300.00	\$371.00 \$312.00	\$742.00 \$624.00
Option 3	Bumper with Lift Gate Cutouts Top Pak Opening 4' Deep Compartment	2 2 2	\$566.00 \$650.00	\$1,132.00 \$1,300.00	\$371.00 \$312.00	\$742.00 \$624.00
Option 3 Option 4	Bumper with Lift Gate Cutouts Top Pak Opening 4' Deep Compartment High Roof	2 2 2 1	\$566.00 \$650.00 \$3,500.00	\$1,132.00 \$1,300.00 \$7,000.00	\$371.00 \$312.00 \$2,545.00	\$742.00 \$624.00 \$5,090.00
Option 3 Option 4 Option 4A Option 4B	Bumper with Lift Gate Cutouts Top Pak Opening 4' Deep Compartment High Roof 108" Bed Model, 54" Roof	2 2 2 1	\$566.00 \$650.00 \$3,500.00 \$21,655.00	\$1,132.00 \$1,300.00 \$7,000.00 \$21,655.00	\$371.00 \$312.00 \$2,545.00 \$11,025.00	\$742.00 \$624.00 \$5,090.00 \$11,025.00
Option 3 Option 4 Option 4A Option 4B Option 4C	Bumper with Lift Gate Cutouts Top Pak Opening 4' Deep Compartment High Roof 108" Bed Model, 54" Roof 108" Bed Model, 60" Roof	2 2 2 1 1	\$566.00 \$650.00 \$3,500.00 \$21,655.00 \$22,370.00	\$1,132.00 \$1,300.00 \$7,000.00 \$21,655.00 \$22,370.00	\$371.00 \$312.00 \$2,545.00 \$11,025.00 \$11,232.00	\$742.00 \$624.00 \$5,090.00 \$11,025.00 \$11,232.00
Option 3 Option 4 Option 4A Option 4B Option 4C Option 4D	Bumper with Lift Gate Cutouts Top Pak Opening 4' Deep Compartment High Roof 108" Bed Model, 54" Roof 108" Bed Model, 60" Roof 108" Bed Model, 72" Roof	2 2 2 1 1 1	\$566.00 \$650.00 \$3,500.00 \$21,655.00 \$22,370.00 \$26,103.00	\$1,132.00 \$1,300.00 \$7,000.00 \$21,655.00 \$22,370.00 \$26,103.00	\$371.00 \$312.00 \$2,545.00 \$11,025.00 \$11,232.00 \$12,026.00	\$742.00 \$624.00 \$5,090.00 \$11,025.00 \$11,232.00 \$12,026.00
Option 3 Option 4 Option 4A Option 4B Option 4C Option 4D Option 4E	Bumper with Lift Gate Cutouts Top Pak Opening 4' Deep Compartment High Roof 108" Bed Model, 54" Roof 108" Bed Model, 60" Roof 108" Bed Model, 72" Roof 132" Bed Model, 54" Roof	2 2 2 1 1 1 1	\$566.00 \$650.00 \$3,500.00 \$21,655.00 \$22,370.00 \$26,103.00 \$27,169.00	\$1,132.00 \$1,300.00 \$7,000.00 \$21,655.00 \$22,370.00 \$26,103.00 \$27,169.00	\$371.00 \$312.00 \$2,545.00 \$11,025.00 \$11,232.00 \$12,026.00 \$12,396.00	\$742.00 \$624.00 \$5,090.00 \$11,025.00 \$11,232.00 \$12,026.00 \$12,396.00
Option 3 Option 4 Option 4A Option 4B Option 4C Option 4D Option 4E Option 4F	Bumper with Lift Gate Cutouts Top Pak Opening 4' Deep Compartment High Roof 108" Bed Model, 54" Roof 108" Bed Model, 60" Roof 108" Bed Model, 72" Roof 132" Bed Model, 54" Roof 132" Bed Model, 60" Roof	2 2 2 1 1 1 1 1	\$566.00 \$650.00 \$3,500.00 \$21,655.00 \$22,370.00 \$26,103.00 \$27,169.00 \$27,569.00	\$1,132.00 \$1,300.00 \$7,000.00 \$21,655.00 \$22,370.00 \$26,103.00 \$27,169.00 \$27,569.00	\$371.00 \$312.00 \$2,545.00 \$11,025.00 \$11,232.00 \$12,026.00 \$12,396.00 \$12,606.00	\$742.00 \$624.00 \$5,090.00 \$11,025.00 \$11,232.00 \$12,026.00 \$12,396.00 \$12,606.00
Option 3 Option 4 Option 4A Option 4B Option 4C Option 4D Option 4E Option 4F Option 4G	Bumper with Lift Gate Cutouts Top Pak Opening 4' Deep Compartment High Roof 108" Bed Model, 54" Roof 108" Bed Model, 60" Roof 108" Bed Model, 72" Roof 132" Bed Model, 54" Roof 132" Bed Model, 54" Roof 132" Bed Model, 72" Roof	2 2 2 1 1 1 1 1 1 1 1	\$566.00 \$650.00 \$3,500.00 \$21,655.00 \$22,370.00 \$26,103.00 \$27,169.00 \$27,569.00 \$29,069.00	\$1,132.00 \$1,300.00 \$7,000.00 \$21,655.00 \$22,370.00 \$26,103.00 \$27,169.00 \$27,569.00 \$29,069.00	\$371.00 \$312.00 \$2,545.00 \$11,025.00 \$11,232.00 \$12,026.00 \$12,396.00 \$12,606.00 \$13,722.00	\$742.00 \$624.00 \$5,090.00 \$11,025.00 \$11,232.00 \$12,026.00 \$12,396.00 \$12,606.00 \$13,722.00
Option 3 Option 4 Option 4A Option 4B Option 4C Option 4D Option 4E Option 4F Option 4G Option 4H	Bumper with Lift Gate Cutouts Top Pak Opening 4' Deep Compartment High Roof 108" Bed Model, 54" Roof 108" Bed Model, 60" Roof 108" Bed Model, 72" Roof 132" Bed Model, 54" Roof 132" Bed Model, 54" Roof Roll-Up Rear Door	2 2 2 1 1 1 1 1 1 1 1 1 1	\$566.00 \$650.00 \$3,500.00 \$21,655.00 \$22,370.00 \$26,103.00 \$27,169.00 \$27,569.00 \$29,069.00 NB	\$1,132.00 \$1,300.00 \$7,000.00 \$21,655.00 \$22,370.00 \$26,103.00 \$27,169.00 \$27,569.00 \$29,069.00 \$0.00	\$371.00 \$312.00 \$2,545.00 \$11,025.00 \$11,232.00 \$12,026.00 \$12,396.00 \$12,606.00 \$13,722.00 \$1,745.00	\$742.00 \$624.00 \$5,090.00 \$11,025.00 \$11,232.00 \$12,026.00 \$12,396.00 \$12,606.00 \$13,722.00 \$1,745.00
Option 3 Option 4 Option 4A Option 4B Option 4C Option 4D Option 4E Option 4F Option 4G Option 4H Option 4I	Bumper with Lift Gate Cutouts Top Pak Opening 4' Deep Compartment High Roof 108" Bed Model, 54" Roof 108" Bed Model, 60" Roof 108" Bed Model, 72" Roof 132" Bed Model, 54" Roof 132" Bed Model, 54" Roof Roof 132" Bed Model, 72" Roof Pair of Conduit Doors, one eac side with High Roof	2 2 2 1 1 1 1 1 1 1 1 1 1 1 1	\$566.00 \$650.00 \$3,500.00 \$21,655.00 \$22,370.00 \$26,103.00 \$27,169.00 \$27,569.00 \$10,0	\$1,132.00 \$1,300.00 \$7,000.00 \$21,655.00 \$22,370.00 \$26,103.00 \$27,169.00 \$27,569.00 \$29,069.00 \$0.00	\$371.00 \$312.00 \$2,545.00 \$11,025.00 \$11,232.00 \$12,026.00 \$12,396.00 \$12,606.00 \$13,722.00 \$1,745.00 \$470.00	\$742.00 \$624.00 \$5,090.00 \$11,025.00 \$11,232.00 \$12,026.00 \$12,396.00 \$12,606.00 \$13,722.00 \$1,745.00 \$470.00

			ı	Γ	ı	
-	Additional Shelving for 108" Body	2	\$278.57	\$557.14	\$2,130.00	\$4,260.00
Option 7	Additional Shelving for 132" Body	2	\$278.57	\$557.14	\$2,695.00	\$5,390.00
Option 8	Replace Shelving with Pull Out Drawers on 108" Body	2	\$12,200.00	\$24,400.00	\$12,720.00	\$25,440.00
Option 9	Replace Shelving with Pull Out Drawers on 132" Body	2	\$16,200.00	\$32,400.00	\$17,595.00	\$35,190.00
	ITEM 25 Total Extended Cost			\$392,400.80		\$337,012.00
26	38,000 lb Crane Body (84" CA)	2	\$54,963.50	\$109,927.00	\$36,831.00	\$73,662.00
Option 1	Master Lock System	2	\$714.29	\$1,428.58	\$371.00	\$742.00
Option 2	Additional Shelving Pkg for 38K Body	2	\$278.57	\$557.14	\$625.00	\$1,250.00
Option 3	Tool Tray	2	\$714.29	\$1,428.58	\$875.00	\$1,750.00
Option 4	Drop Well for Gas Bottles	2	\$5,482.35	\$10,964.70	\$765.00	\$1,530.00
Option 5	Bottle Holders to secure Gas Bottles	2	\$150.00	\$300.00	\$260.00	\$520.00
Option 6	Compartment Lighting	2	\$790.00	\$1,580.00	\$978.00	\$1,956.00
Option 7	2 Flood Lights	2	\$475.00	\$950.00	\$465.00	\$930.00
Option 8	Crane Boom Support	2	\$575.00	\$1,150.00	\$560.00	\$1,120.00
Option 9	24" Work Bumper	2	\$4,065.00	\$8,130.00	\$6,028.00	\$12,056.00
Option 10	12" Bumper	2	Standard	\$0.00	\$2,796.00	\$5,592.00
Option 11	16.000 lb Pintle Hitch	2	\$3,500.00	\$7,000.00	\$617.00	\$1,234.00
Option 12	Valve Key Brackets	2	\$500.00	\$1,000.00	\$811.00	\$1,622.00
Option 13	Ladder Racks	2	\$450.00	\$900.00	\$578.00	\$1,156.00
	ITEM 26 Total Extended Cost			\$145,316.00		\$105,120.00
27	50,000 lb Crane Body	2	\$81,129.75	\$162,259.50	\$53,097.00	\$106,194.00
Option 1	Master Lock System	2	\$1,250.00	\$2,500.00	\$391.00	\$782.00
Option 2	Additional Shelving Pkg for 50K Body	2	\$278.50	\$557.00	\$665.00	\$1,330.00
Option 3	Tool Tray	2	\$850.00	\$1,700.00	\$1,075.00	\$2,150.00
Option 4	Drop Well for Gas Bottles	2	\$5,482.00	\$10,964.00	\$765.00	\$1,530.00
Option 5	Bottle Holders to secure Gas Bottles	2	\$150.00	\$300.00	\$495.00	\$990.00
Option 6	Compartment Lighting	2	\$1,580.00	\$3,160.00	\$520.00	\$1,040.00
Option 7	Floor Lights	2	\$475.00	\$950.00	\$725.00	\$1,450.00
Option 8	Additional Flood Lights	2	\$475.00	\$950.00	\$460.00	\$920.00
Option 9	Crane Boom Support	2	\$575.00	\$1,150.00	\$560.00	\$1,120.00
Option 10	24" Work Bumper	2	Standard	\$0.00	\$4,910.00	\$9,820.00
Option 11	Valve Key Brackets	2	\$500.00	\$1,000.00	\$811.00	\$1,622.00
Option 12	Ladder Racks	2	\$450.00	\$900.00	\$578.00	\$1,156.00
Option 13	Pintle Hitch, 16,000 lb	2	\$3,500.00	\$7,000.00	\$1,145.00	\$2,290.00
Option 14	Air Pintle Hitch 90,000 lb	2	\$48,650.00	\$97,300.00	\$2,482.00	\$4,964.00
Option 15	Delete Drawers Compartment H	2	-\$800.00	-\$1,600.00	-\$1,127.00	-\$2,254.00
Option 16	Slide Out Shelf in Compartment D & J	2	\$1,200.00	\$2,400.00	\$1,707.00	\$3,414.00
Option 17A	Spray-on Liner, Cargo Area	2	\$1,500.00	\$3,000.00	Included in base price	\$0.00
Option 17B	Spray-on Liner, Bumper rear body, tops of Compartments	2	\$950.00	\$1,900.00	\$0.00	\$0.00
Option 18	Lift Gate 1,600 lb	1	\$6,162.66	\$6,162.66	\$4,610.00	\$4,610.00
Option 19	Labor to Mount Lift Gate to 50K Body	1	Included in Liftgate Price	\$0.00	\$780.00	\$780.00
Option 20	Rotary Screw Compressor	1	\$12,100.00	\$12,100.00	\$16,042.00	\$16,042.00
	ITEM 27 Total Extended Cost			\$314,653.16		\$159,950.00
28	5 Cubic Yard Steel Dump Body	2	\$51,500.00	\$103,000.00	\$43,497.00	\$86,994.00
Option 1	Central Hydraulic System	2	\$18,125.00	\$36,250.00	\$18,020.00	\$36,040.00
Option 2	Spread Apron	2	\$275.00	\$550.00	\$907.00	\$1,814.00

	T			1		1
Option 3	16,000 lb Pintle Ball Hitch	2	\$650.00	\$1,300.00	\$0.00	\$0.00
Option 4	Tool Box	2	\$600.00	\$1,200.00	\$692.00	\$1,384.00
Option 5A	Rumbar Side Boards	2	\$1,000.00	\$2,000.00	\$120.00	\$240.00
Option 5B	Steel Side Boards	2	\$1,000.00	\$2,000.00	\$810.00	\$1,620.00
Ontion 6	Air Controls for Raising Bed (NOT REQUIRED IF QK CONNECT HYD SYSTEM IS USED)	2	\$200.00	\$400.00	\$0.00	\$0.00
Option 7	20" Steps in Place of Ladder	2	\$125.00	\$250.00	\$1,076.00	\$2,152.00
	ITEM 28 Total Extended Cost			\$146,950.00		\$130,244.00
29	5 Cubic Yard Stainless Steel Dump Body	1	\$53,250.00	\$53,250.00	\$54,016.00	\$54,016.00
Option 1	Central Hydraulic System	1	\$18,125.00	\$18,125.00	\$18,020.00	\$18,020.00
Option 2	Spread Apron	1	\$710.00	\$710.00	\$907.00	\$907.00
-	16,000 lb Pintle Ball Hitch	1	\$650.00	\$650.00	\$0.00	\$0.00
Option 4	Tool Box	1	\$600.00	\$600.00	\$692.00	\$692.00
	Rumbar Side Boards	1	\$1,000.00	\$1,000.00	\$120.00	\$120.00
	Steel Side Boards	1	\$1,000.00	\$1,000.00	\$810.00	\$810.00
		1	Ψ1,000.00	Ψ1,000.00	\$510.00	ψ010.00
Option 6	Air Controls for Raising Bed (NOT REQUIRED IF QK CONNECT HYD SYSTEM IS USED)	1	\$200.00	\$200.00	\$0.00	\$0.00
	ITEM 29 Total Extended Cost			\$75,535.00		\$74,565.00
30	10 Cubic Yard Steel Dump Body (120" CA)	2	\$56,600.00	\$113,200.00	\$46,128.00	\$92,256.00
Option 1	Central Hydraulic System	2	\$18,125.00	\$36,250.00	\$18,020.00	\$36,040.00
Option 2	Spread Apron	2	\$275.00	\$550.00	\$907.00	\$1,814.00
Option 3	16,000 lb Pintle Ball Hitch	2	\$650.00	\$1,300.00	\$0.00	\$0.00
Option 4	Tool Box	2	\$600.00	\$1,200.00	\$692.00	\$1,384.00
Option 5A	Rumbar Side Boards	2	\$1,000.00	\$2,000.00	\$220.00	\$440.00
Option 5B	Steel Side Boards	2	\$1,000.00	\$2,000.00	\$810.00	\$1,620.00
Option 6	Air Controls for Raising Bed (NOT REQUIRED IF QK CONNECT HYD SYSTEM IS USED)	2	\$200.00	\$400.00	\$0.00	\$0.00
Option 7	1/4" Floor	2	Included	\$0.00	\$2,637.00	\$5,274.00
Option 8	20" Steps in Place of Ladder	2	\$125.00	\$250.00	\$1,076.00	\$2,152.00
	ITEM 30 Total Extended Cost			\$157,150.00		\$140,980.00
31	13 Cubic Yard Steel Dump Body (126" CA)	2	\$58,200.00	\$116,400.00	\$46,817.00	\$93,634.00
Option 1	Central Hydraulic System	2	\$17,150.00	\$34,300.00	\$18,020.00	\$36,040.00
Option 2	Spread Apron	2	\$275.00	\$550.00	\$907.00	\$1,814.00
	16,000 lb Pintle Ball Hitch	2	\$650.00	\$1,300.00	\$0.00	\$0.00
	Tool Box	2	\$600.00	\$1,200.00	\$692.00	\$1,384.00
·	Rumbar Side Boards	2	\$1,000.00	\$2,000.00	\$220.00	\$440.00
	Steel Side Boards	2	\$1,000.00	\$2,000.00	\$810.00	\$1,620.00
<u>'</u>	Air Controls for Raising Bed	-	,	,	+525.00	, _,, ,,
Option 6	(NOT REQUIRED IF QK CONNECT HYD SYSTEM IS USED)	2	\$200.00	\$400.00	\$0.00	\$0.00
Option 7	1/4" Floor	2	Included	\$0.00	\$2,637.00	\$5,274.00
Option 8	20" Steps in Place of Ladder	2	\$125.00	\$250.00	\$1,076.00	\$2,152.00
	ITEM 31 Total Extended Cost			\$158,400.00		\$142,358.00
32	13 Cubic Yard Stainless Steel Dump Body (126" CA)	1	\$65,400.00	\$65,400.00	\$58,745.00	\$58,745.00
Option 1	Central Hydraulic System	1	\$17,150.00	\$17,150.00	\$18,020.00	\$18,020.00
Option 2	Spread Apron	1	\$710.00	\$710.00	\$907.00	\$907.00
					<u> </u>	
Option 3	16,000 lb Pintle Ball Hitch	1	\$650.00	\$650.00	\$0.00	\$0.00

0-4 5-	Durah ay Cida Da		#4 000 00	M4 000 00	4000.00	# 222.22
Option 5A	Rumbar Side Boards	1	\$1,000.00	\$1,000.00	\$220.00	\$220.00
•	Steel Side Boards Air Controls for Paising Red	1	\$1,000.00	\$1,000.00	\$1,133.00	\$1,133.00
Option 6	Air Controls for Raising Bed (NOT REQUIRED IF QK CONNECT HYD SYSTEM IS USED)	1	\$200.00	\$200.00	\$0.00	\$0.00
Option 7	1/4" Floor	1	Included	\$0.00	\$1,253.00	\$1,253.00
Option 8	20" Steps in Place of Ladder	1	\$175.00	\$175.00	\$1,076.00	\$1,076.00
	ITEM 32 Total Extended Cost			\$86,885.00		\$82,046.00
33	11 Cubic Yard Steel Rip Rap Dump Body (126" CA)	2	\$45,500.00	\$91,000.00	\$52,138.00	\$104,276.00
Option 1	Central Hydraulic System	2	\$17,150.00	\$34,300.00	\$18,020.00	\$36,040.00
Option 2	Pintal Ball Hitch, 16,000 lb	2	\$900.00	\$1,800.00	\$1,145.00	\$2,290.00
Option 3	Pintal Ball Hitch, 90,000 lb	2	\$900.00	\$1,800.00	\$2,352.00	\$4,704.00
Option 4	Tool Box	2	\$600.00	\$1,200.00	\$692.00	\$1,384.00
	Trailer Tow Package	2	\$200.00	\$400.00	\$410.00	\$820.00
Option 6	Air Controls for Raising Bed (NOT REQUIRED IF QK CONNECT HYD SYSTEM IS USED)	2	\$200.00	\$400.00	\$0.00	\$0.00
	Hydraulic Tail Gate	2	\$3,000.00	\$6,000.00	\$5,421.00	\$10,842.00
Option 8	Spread Apron	2	\$500.00	\$1,000.00	\$907.00	\$1,814.00
Option 9	20" Steps in Place of Ladder	2	\$250.00	\$500.00	\$1,076.00	\$2,152.00
Option 10	Chain & Boomer Rack (Add 8" to Chassis CA)	2	\$550.00	\$1,100.00	\$380.00	\$760.00
Option 11	2" Oak Side Board Extensions	2	\$200.00	\$400.00	\$410.00	\$820.00
	ITEM 33 Total Extended Cost			\$139,900.00		\$165,902.00
34	12 Cubic Yard Steel Rip Rap Dump Body (126" CA)	2	\$46,300.00	\$92,600.00	\$53,633.00	\$107,266.00
Option 1	Central Hydraulic System	2	\$17,150.00	\$34,300.00	\$18,020.00	\$36,040.00
Option 2	Pinch Ball Hitch 16,000 lb	2	\$900.00	\$1,800.00	\$1,145.00	\$2,290.00
Option 3	Pinch Ball Hitch 90,000 lb	2	\$900.00	\$1,800.00	\$2,352.00	\$4,704.00
Option 4	Tool Box	2	\$600.00	\$1,200.00	\$692.00	\$1,384.00
Option 5	Trailer Tow Package	2	\$200.00	\$400.00	\$410.00	\$820.00
Ontion 6	Air Controls for Raising Bed (NOT REQUIRED IF QK CONNECT HYD SYSTEM IS USED)	2	\$200.00	\$400.00	\$0.00	\$0.00
	Hydraulic Tail Gate	2	\$3,000.00	\$6,000.00	\$5,421.00	\$10,842.00
Option 8	Spread Apron	2	\$500.00	\$1,000.00	\$907.00	\$1,814.00
Option 9	20" Steps in Place of Ladder	2	\$250.00	\$500.00	\$1,076.00	\$2,152.00
Option 10	Chain & Boomer Rack (Add 8" to Chassis CA)	2	\$550.00	\$1,100.00	\$380.00	\$760.00
Option 11	2" Oak Side Board Extensions	2	\$200.00	\$400.00	\$410.00	\$820.00
	ITEM 34 Total Extended Cost			\$141,500.00		\$168,892.00
35	14 Cubic Yard Steel Rip Rap Dump Body (132" CA)	2	\$47,750.00	\$95,500.00	\$56,477.00	\$112,954.00
Option 1	Central Hydraulic System	2	\$17,150.00	\$34,300.00	\$18,020.00	\$36,040.00
Option 2	Pintle Ball Hitch 16,000 lb	2	\$900.00	\$1,800.00	\$1,145.00	\$2,290.00
Option 3	Pintle Ball Hitch 90,000 lb	2	\$900.00	\$1,800.00	\$2,352.00	\$4,704.00
Option 4	Tool Box	2	\$600.00	\$1,200.00	\$692.00	\$1,384.00
Option 5	Trailer Tow Package	2	\$200.00	\$400.00	\$410.00	\$820.00
Option 6	Air Controls for Raising Bed (NOT REQUIRED IF QK CONNECT HYD SYSTEM IS USED)	2	\$200.00	\$400.00	\$0.00	\$0.00
	Hydraulic Tail Gate	2	\$3,000.00	\$6,000.00	\$5,421.00	\$10,842.00
Option 8	Spread Apron	2	\$500.00	\$1,000.00	\$907.00	\$1,814.00
Option 9	20" Steps in Place of Ladder	2	\$250.00	\$500.00	\$1,076.00	\$2,152.00
Option 10	Chain & Boomer Rack (Add 8" to Chassis CA)	2	\$550.00	\$1,100.00	\$380.00	\$760.00
Option 11	2" Oak Side Board Extensions	2	\$200.00	\$400.00	\$410.00	\$820.00
	Item 35 Total Extended Cost		<u>l</u>	\$144,400.00		\$174,580.00

TOTAL COST NOT TO EXCEED: (All costs must be included or Your Bid will be disqualified)	\$3,058,302.50	\$2,580,938.10
Delivery:	30-180 Days Varies depending on product supplied	30-210 Days
Annual Price Adjustment:	3.00%	3%
Notes:	N/A	N/A

THE CITY DOES NOT GUARANTEE ANY SPECIFIC QUANTITY OR NUMBER OR PURCHASES, IF ANY, THAT WILL BE MADE DURING THE AGREEMENT TERM.